
ENGINEERING MATHEMATICS 2.EXAM JANUARY 2012

1. Find the solution of the initial value problem given below

(2xy − 1)dx + x2dy = 0

for x = 1 y = 2,

2. Find the most general solution of the system of linear algebraic equations given below 1 1 2
1 −1 3
2 0 5


X1

X2

X3

 =

 4
3
8


3. Find the most general solution of the differential equation given below

L(D)y = et + sin(t) where L(x) = (x− 1)3 D =
d

dt

4. Find the linear independent eigenvectors of the matrix A given below.

A =


2 1 0 0
9 2 0 0
0 0 2 1
0 0 9 2





 

 


